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Quiz Date: 234 June 2020

Directions (1-15): In following questions two equations are given. Solve the equations and
give answer

Lx*+10x+24=0
o1, 11-4y3 - 17y +18=0
(a)ifx<y
(b)ifx>y
(q)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

[.x2=729
gz, 1Ly =V729
(a)ifx<y
(b)ifx>y
(c)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

x2-1=0
Q3 ILy2+4y+3=0
(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

Lx2-7x+12=0
qs 1Ly2-12y+32=0
(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=zy
(e) if x =y or no relation can be established

[.3x2-20x-32=0

o5 11272 -3y-20=0
(a)ifx<y
(b)ifx>y
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(0)ifx<y
(d)ifx=y
e) if x =y or no relation can be establishe
(e)if 1 b blished

. 3x2-11x+10=0
IL 2y2-3y—2=0

Qeé.
(@)x=zy
(b)x<y
(c)x<y
(d)x>y
(e) x =y or Relationship between x and y cannot be established
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[. x*—9x+20=0
7. L 2y°-13y+18=0
(@)x=zy
(b)x<y
(c)x<y
(d)x>y

(e) x =y or Relationship between x and y cannot be established

5 3
P RCinats b +6“” =x?

(@a)xzy
(b)x<y
(c)x<y

(d) x>y
(e) x =y or Relationship between x and y cannot be established

L.5x> —18x+9=0
Q9. IL3y>+5y—2=0

()x2y
() x<y
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(c)x<y
(d)x>y
(e) x =y or Relationship between x and y cannot be established

Lx>—19x+84 =0
q10. I y2 — 25y + 156 = 0

(@)xzy
(b)x=<y
(A x<y
(d)x>y
(e) x =y or Relationship between x and y cannot be established

Lx?—x—6=0
o1, 2% + 13y +21 =0
(a)ifx<y
(b)ifx>y
(c)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

L.x2=4

012 ILy* +6y+9=0

(a)ifx<y
(b)ifx>y
(0)ifx<y
(d)ifx=>y
(e) if x =y or no relation can be established

L.2x+3y=4
Q13. II. 3x + 2y =11
(a)ifx<y
(b)ifx>y
(0)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

Lx2—7x+12=0

Q14 ILy>+4y+3=0

(a)ifx<y
(b)ifx>y
(0)ifx<y
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(d)ifx=zy
(e) if x =y or no relation can be established

1.v361x + 16 = 0
q1s. 1L Vidly +4=0

(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=zy
(e) if x =y or no relation can be established
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S1. Ans.(a)
Sol.

¥+ox+4x+24=0
x(x+6)+4(x+6)=0
(x+4)(x+6)=0
x=-4-6

4y -8y -9y + 18=0
4y(y-2)-9(y-2)=0
(4y-9)(y-2)=0
:32

¥y 3

X<y

S2. Ans.(c)
Sol.

X2-729=0
(x-27)(x+27)=0
x=27,-27
y=+729 = 27

x =y

S3. Ans.(d)
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Sol.
(x-1)(x+1)=0
x=1,-1

vi+y+3y+3=0
yviv+1)+3(y+1)=0
v+3)(v+1)=0
y=-1,-3

X2 ¥

S4. Ans.(c)

Sol.
®-4x-3x+12=0
xx-4)-3(x-4)=0
(x-3)(x-4)=0
x=3 4
yi-4y -8y +32=0
yly-4)-8(y-4)=0

y-8)(yv-4)=0

yv=48

x =y
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S5. Ans.(e)
Sol.

3x2-24x+4x-32=0
3x(x-8)+4(x-8)=0
(3x+4)(x-8)=0

4
X = —;JS
2y2-8y+5y-20=0
2y (v-4)+5(v-4)=0
(2y+5)(v-4)=0

5
y= _5'4

No relation can be established

S6. Ans.(e)
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Sol.

L3x2—11x+10=10
=3x? —6x—5x+10=0
=(x—2)(3x—-5)=0

5
;"X=2,§

L2y’ —3y—2=0
=2y’ —4y+y—-2=0
=(y—2)(2y+1)=0

1
=:-J,.r=21—§

No relation

S7. Ans.(e)
Sol.
Lx?—9x+20=0
= (x—4)(x—-5)=0
=x=4,5
IL2y? - 13y +18=0
=2y —4y—9y+18=0
=(y—2)(2y—9)=0
9
=y= E,E
No relation

$8. Ans.(d)

Sol.
g _ 1363

&
L 4y® = —
3 _ 589
4

589

3
2 + 5y

=¥

X>y

S9. Ans.(d)
Sol.
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.5x* —18x+9 =10

= 5x? —15x—3x+9 =0

= (x—3)(5x—3)=0
3

:;'XZE,E

I.3y2 +5y—2=0

=3y‘+6y—y—2=0

=(y+2)(3y—1)=0

1
:vy—i,—?.
X>=y

S10. Ans.(b)

Sol.

Lx*—19x+ 84 =10

= (x—12)(x-7)=10
=x=12,7

ILy* —25y+ 156 =0
= (y—12)(y—13) =10
= y=1213

y =X

S11. Ans.(b)

Sol.

Lx)—x—-6=0

= x?—3x+2x—6=0
=x(x—3)+2(x—-3)=0
=2(x+2)(x—3)=0
=x=-23

IL2y* +13y+21=0

=2y +7v+6y+21=0
=yv(2y+7)+3(2v+7)=0
=(y+3)2y+7)=0
::-}'=—3.—;—
SX Y

S12. Ans.(b)
Sol.
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Lx2=4

=x—4=0
=2(x—2)(x+2)=0
=x=2,-2
ILy?+6y+9=0

=y +3y+3y+9=0
=2y(y+3)+3(v+3)=0
=2(y+3)v+3)=0
=y=-3

LX =Y

S13. Ans.(b)
Sol.

L2x +3y =4

IL3x 4 2y = 11

On (i) % 3 — (ii) X 2
x=5y=-2

X =Y

S14. Ans.(b)

Sol.

Lx*—7x+12=0
=x*—4x—3x+12=0
=x(x—4)—3(x—4)=0
=2(x—3)(x—4)=0

=x =34
ILy*+4y+3=0

=y +3y+y+3=0
=yv(yv+3)+1(y+3)=0
=2(yv+1)(y+3)=0
=>y=-1=-3

XY

S15. Ans.(a)
Sol.
Ly361lx +16 =10

=19x+4 =20
=x = -
19

ILv441y+4=0
=21y +4=0

4
=2y=-7
SX Y
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